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D C B A Questions / =iy V' ed
B-A B A 5%—?M'4A*B;KA§B/’T 1
If Ac B,then A—B isequal to:
(¢} {4, @} ¢ {a} - trdralfende| 2
Power set of any empty set is:
A Al A Al e i x4l 3
e o . X+
: : g x’+1
Constant term Identity Improper fraction| Proper fraction m is a/an-
b _x-y) a+b x4y | a_x 2.0 =2/ Uil a 5% | 4
& y b y by z ¥ Ifa: b%.x;‘.j; then alternando property is:
b_y atb _x+y B a_b : 5-;;_-‘\. :q;.:-‘,;Lfg;kxa:b:x:yﬁ 5
a x b y a-b x-y x ¥ If a:b=X.:¥, then invertendo property is:
1 1 e | . Lol + ,82
o+ 2. —_—— 2_p2 e E i 6
P espi-2p | St P | i of
Product of cube roots of unity is:
:.;.;:ﬂd’u,w ax?+bx+c=0 whlefile G| 8
4 3 2 I The number of terms in a standard quadratic
equation &'(2 +bx+c=0 is:
LI NT e Bl | 9
1 4 3 2 How many tangents can be drawn from a point
outside the circle?
b ST K30 E g 40° i TPK | 10
60° a° 20° 80° An arc subtends a central angle of 40° then the
corresponding chord will subtend a central angle of:
sine be_ 21 tangent ¥ 7 cosine e ~h secant b /1) W %.f rUﬂJ)"IE’;sm"' P‘CL}fsé:gﬁb'.g 11
. Y , A line which has two points in common with a
Sincof a circle | Tangent of a cifele)\Cosine of a circle | Secant of a circle circle is called:
yre .ck/:ffp Uoe B &= nsis” !ugu'bxf.c../'b&.g 12
Double of the Halfofany |Radii of a circle are:
All equal All unequal diameter chord
B 1 1 1 5
N —cosec45° = 13
2 V2 22 2 2
£ e il =d bl i S} boldlo| 14
Place Origin Ratio Value Mean is affected by change in:
=g gl Jek % e biie i S} bidlo| 15
Value Rate Scale Place Mean is affected by change in:
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( Part-1 djl«:.;) FQD-—h—)_S

Write short answers to any SIX parts. ; _é‘agiﬁﬁ@:ﬂz hg;.éf
Write the names of the methods used to solve quadratic equation. -&Q‘(tf.u;é.’ )L&.fd" f.:.bl/dm; 0]

) . 1 1 e l 1 — . 1
Write instandard form:  ~——+———=3 T alr il .Ju:tﬁdxkvfgbl/ (ii)
Solve:  x2+2x-2=0 x242x-2=0 gL i)

3x2+7x~11=0 “ér:l”' ..,.m»l',nf Vu‘l;ﬂ’éd’ :(..:«f:l/{f.mz (iv)

Without solving, find the sum and the product of the roots of the quadratic equation: 352 4 7x—11=0

~ Find o? ifm=i+2ﬁ. : -gi:pl” mz;ﬁ(!):"_i%\f:_.’i_/ﬁ v)
Find the discriminant of the quadratic equation 6x2 -8x+3=0., _eér:l”' akafK 6x2-8x+3=0 whsla@lsn, (vi)
Define proportion. -_é & }-U-./l"r' (vii)

If Rec T2 and R =8 when T=3, find R when T =6 -ﬁT:ﬁ.,?_c",gr}”RPxT=3 2 RES L RET ) (viii)

Find the fourth proportional to 5, 8, 15 - EURK 5,815 (ix)
Write short answers to any SIX parts. _dagmﬁ’}ﬁ,lz l{c..(jf
Define rational fraction. -g’:_"f - /."L{ /Jb W
2 2
1 . -
Express in the form of partial fractions: x3 :i i; :1 :giﬁwbtf&/d,z (in)
X
Define binary relation. _éu.é’/"'&[mjl; (iii)

L AXA LIAXBJB={-13 4 A=0,2, 4 /i Gy
If A={0, 2, 4} and B=1{-1, 3}, then find AxBdnd Ax A .

Define intersection of two sets, -g‘,f -3 /JL; d’ @Ju:?.’» (v)
Write De-Morgan's Laws. @ I;’Z.u'jr'd 3 (vi)
Define cumulative frequency. “EHS84 (i)

Find the median for the marks: 82, 93, 86, 92, 79 82, 93, 86, 92, 79 ZE bk S (viii)

Find arithmetic medf uSing direct method: G Iloe 3 e, (ix)
X 1 2 3 4 5
f 3 8 5 3. 1
Write short answers to any SIX parts. . &UJZ/X’Z'IZ i;gc;..(jf
Convert -23£ into degree. _gdg‘;df}f -23£ (i)
Find ¢, when 6=60°30', r =15mm -ar=15mm0=60°30' BZEe=d £ i)
2
: 0 . 2 ;
Verify that: c:ii g +sin6=cosech c;fl ee +5sin 0 = cosech e (i)
Define radian measure of an angle. ~E u_‘é:d; 4 (iv)
—
Define zero dimension. _ // _Efi: - f”Jch/" v)

(k)
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Define tangent to a circle. &y Sl e sy (vi)
Define circumference of a circle. h_‘:'f':’ ._éf/‘.’.pfkffﬂ:,. 2y (vii)

The length of the side of a regular pentagon is Sem. What is its perimeter? ‘-'c,l/}bf{u" = SJLJU(DJ'&LJﬁ.JI viii
g <L . : ! (viii)

Define perimeter. -_a;’l..é[ ;J.bi:! (ix)
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Part - I1, Attempt any THREE questions. Each question carries 08 marks. Question No. &is compulsory.

4 ) 3
Selve the equation using quadratic formula: = _3_6 =w=r=l =2 N TR S ()
Prove that:  x*+y° = (x + y)(x + 0y)(x + oly) K+ v = (X )(x FOY)(x+0y) et (L)
(x-2-(x-4? 12 &K -(x-4* _12 v ()
Bolve: (x-2+(x-4)? 13 (XPBR)* + (x—4)° 13 g J
Resolve into partial fractions: 9——“ —-——9————_-— fég,giiﬂ;/d:;? (.“-.-")
(x ~D)(x +2) x-D(x+2)* i

B-AY=BUA (L.¢ip={1,4 My A = {1.3,5,7,9} « U={1,2,3.4, ..., 1011 (L)
U= {12,340 00, 10}, A= {13, SI7083. 8= (1, 4, 7, 10} then verify that (B~ A) = B'UA

Find the standard deviation: 17.6,7,3,15,10,18.5 P UIAG (L)

_e;f;r,lv&g',fjg?agf@g}ﬂ sec > 0 i cosech = %ﬂ (@)
If cosech = % and sec0'$0,, find the remaining trigonometric functions.

A4 SIS TS LG a0 6 ABC Sl o ()

Circumscribe a Gircle about an equilateral triangle ABC with each side of length 4cm.

L Undoldi g L»a_)}a:?u:qfﬁ:‘/"wd:g/’b/ﬁfgj;’qﬁ
Provethat if two chords of a circle are congruent then they will be equidistant from the center.
- OR - I -

-t sl Al rUﬂdbdaﬁ:ﬁU"-ﬂf&r:’}féqt‘

Prove that any two angles in the same segment of a circle arc equal.
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